S

Reading Test

Part 5 Select A, B,C, or D, that best completes the sentence.

101. The government's efforts to tackle inflation
have heen a complete ... .
(A) fail
(B) failing
(C) failure
(D) failed

102. If the train strike goes ahead next week, the
committee meeting ... »
(A) was canceled
(B) will cancel
(C) will be canceled
(D) has been canceled

103. [t is a large apartment with two bedrooms

105. Human beings can tolerate extreme dry heat
if they have enough waterto ............ -the
body fluid they lose by sweating.

(A) replace
(B) revive
(C) refresh
(D) refill

106.The club's ............. include a swimming
pool, a hair salon, tennis courts, and a sauna.
(A) equipment
(B) facilities
(C) contents
(D) goods

anda..—....—.. living room. 107. The city has a number of interesting
(A) space neighborhoods that are well worth ..............
(8) spaced (A) explore
(C) spacing (B) toexplore
(D) spacious (C) explored

104, You can carry luggage on the train ... ” (D) exploring
it will not cause injury or inconvenience to 108. As this matter is now urgent, | would be
other passengers. grateful fora ... . response.
(A) provided (A) hurried
(B) so (B) punctual
(C) in case (C) prompt
(D) unless (D) ready
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